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Question Number : 1 Question Id : 755905971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For storing large backup data, which of the following storage devices can

be used?
Options:
, = Floppy disk

> % Hard disk

5l Magnetic tape

4 # Scan Disc

Question Number : 1 Question Id : 755905971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
92 939 3T F FIEA i F fov, Feafai@d # ¥ g gagu @Iy & 39aer Far 31 @ 27

Options:

. » Ferd B%F (Floppy disk)
, « @8 B%F (Hard disk)

Taerd 29 (Magnetic tape)

i -

, « Tha 3T (Scan Disc)

Question Number : 2 Question Id : 755905972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A CPU repeatedly performs the fetch. decode, and execute steps in its operations. which is collectively known as:

Options:
, w Wwrite cycle

» % datacycle

-  lnstruction cycle



4 s DMA cycle

Question Number : 2 Question Id : 755905972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

| % TST (write) WTSFHS

2 % s HTSehel

. o TG | STEFAT WSFA

, « DMA @rgeer

Question Number : 3 Question Id : 755905973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is used to identify a user who returns to a website?
Options:

- Cookies
i 4

> % Plug-ins
= % Scripts

4 % AS5SPs

Question Number : 3 Question Id : 755905973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:




4 # ASPs

Question Number : 4 Question Id : 755905974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which keys are used to restore the size of the maximised windows?

Options:
1 % ALT+F1

> o ALT+F5
s % ALT+F2

4 % ALT+F7

Question Number : 4 Question Id : 755905974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % ALT + F1

, ¢ ALT + F5
2 % ALT + F2

4 % ALT + F7

Question Number : 5 Question Id : 755905975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
All MS Excel formulas start with:

Options:
1. % /

Question Number : 5 Question Id : 755905975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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4 @ =

Question Number : 6 Question Id : 755905976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT there in a motherboard?

Options:
; w System Clock

-~ % DBuses
= % Ports

Question Number : 6 Question Id : 755905976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 *® ﬁam m
- R ERER‘:F
. » 9eH (Ports)

. v VDT

Question Number : 7 Question Id : 755905977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The initial version of a card reader was a:
Options:

| % card processor



> % memory stick

- % secondary reader

4 « bunched card readers

Question Number : 7 Question Id : 755905977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 8 Question Id : 755905978 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The type of readers that work with a radio frequency that communicates when the card comes close to the reader are

called:
Options:
1 % Seamless card readers

> % Touch less card readers
= % Wireless

4 « Contactless

Question Number : 8 Question Id : 755905978 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 755905979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank with correct option.

Digital cameras share an optical system, with a lens having variable diaphragm to onto an image pickup device.

Options:
, w de-focus light

-  Focus light

= % Concentrate

4 % scatter light

Question Number : 9 Question Id : 755905979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 10 Question Id : 755905980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Webcams are known for their:
Options:



, % low complexity and high cost

-  low manufacturing cost and high flexibility
- % low resolution and high cost

4 R low flexibility and high cost

Question Number : 10 Question Id : 755905980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 755905981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In MS Word 2007, under which menu the Print Preview command can be seen?

Options:
1 « File

> % Tools
z ® View

4 ® Edit

Question Number : 11 Question Id : 755905981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 12 Question Id : 755905982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To get the Symbol dialog box in MS Word, click on menu and choose *symbol’.

Options:
1« Insert

-~ % Format
z # Tools

4 % Tables

Question Number : 12 Question Id : 755905982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 13 Question Id : 755905983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Excel 2016, the address of a cell in the third column and fourth row is:

Options:
1 ® 34

o B 3D



5 o C4

4 % 3C:4R

Question Number : 13 Question Id : 755905983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 % 34
> R 3D

4 % 3C: 4R

Question Number : 14 Question Id : 755905984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A cell range in Excel 2016 is represented by using the sign.

Options:
1 # comma

> « colon
% % semicolon

4 % forward slash

Question Number : 14 Question Id : 755905984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 755905985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Apps permission setting in Windows can be made under:

Options:

| % Start == Program

5 % Start >> Program >> Settings

5 % Start => Programs => Privacy

4 o Start>> Settings >> Privacy

Question Number : 15 Question Id : 755905985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, = Start >> Program

. % Start >> Program >> 3ettings
5 » Start >> Programs >> Privacy

4 v Start >> Settings >> Privacy

Question Number : 16 Question Id : 755905986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Start button is available on the

Options:
1 % Title Bar
> % Task Pane

3 « Taskbar

4 % Toolbar



Question Number : 16 Question Id : 755905986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 17 Question Id : 755905987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To change the colour of windows and dialogue boxes, is used from Display properties

Options:
1 % font scheme

> « colour scheme

- % position style

4 % colour quality

Question Number : 17 Question Id : 755905987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 18 Question Id : 755905988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The minimize button of the window is pressed so that the window is on your Desktop.



Options:
, « Do longer visible

> % to be visible
3 # to beresized

4 % to berepositioned

Question Number : 18 Question Id : 755905988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 19 Question Id : 755905989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When vou position the mouse pointer over the edges of the window frame and drag the frame, the process is called as

Options:
1 % restore window

5 % maximize window
3 o lesize window

4 % minimize window

Question Number : 19 Question Id : 755905989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 755905990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In sleep mode

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.
Options:

1 hard disk

- digital versatile disk

3 random access memory

, compact disk

Question Number : 20 Question Id : 755905990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.
Options:

, R W
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4 FiFee B W

Question Number : 21 Question Id : 755905991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Symmetric algorithms are much than asymmetric algorithms.
Options:
1 « faster

> % slower

= % confidential

4 ® elroneous

Question Number : 21 Question Id : 755905991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 755905992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which one of the following is a hardware?

Options:
, w Printer installation setup

o A printer
= % A Word document to print

4 % lmage to print

Question Number : 22 Question Id : 755905992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:



Question Number : 23 Question Id : 755905993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘What is a dual boot operating svstem?

Options:
, % Whenone operating system is installed in one computer system

>  When two operating systems are installed in one computer system

- % When two operating systems are installed on two computer systems

4 % When two or more operating systems are run at the same time

Question Number : 23 Question Id : 755905993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Options:
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Question Number : 24 Question Id : 755905994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Is it possible for a router to join another network?

Options:



1 «* Yes
> % No
5 % Depends on the type of router

4 w Depends on the type of network

Question Number : 24 Question Id : 755905994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 25 Question Id : 755905995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The cost of fixing a fault:
Options:

, w Ismore expensive if found in requirement than functional design

- % cannever be determined

5 % decreases as we move the product towards live use

4  increases as we move the product towards live use

Question Number : 25 Question Id : 755905995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 26 Question Id : 755905996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the full form of PDF?
Options:

1 % Portable Data Format

E

Partial Data File

ra
®

5

z « Portable Document Format

Portable Document File

o
®

Question Number : 26 Question Id : 755905996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, x Portable Data Format (qréTer 22T WA

, » Partial Data File (fzer 3er wiga)

o Portable Document Format (Wréaer =t “r T

, » Portable Document File (ST STFgHT HIEd)

Question Number : 27 Question Id : 755905997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the full form of AIF?
Options:



1 % Audio Intra File Format

> % Audio Interchange File Filter
5  Audio Interchange File Format

4 » Audio Interchange Filter File

Question Number : 27 Question Id : 755905997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % Audio Intra File Format (383 331 BIEe BiHe)
, % Audio Interchange File Filter (31337 setas v fheew)

- « Audio Interchange File Format (AT Se= TS FIHT)

, % Audio Interchange Filter File (31331 Set=st fiheet wiEa)

Question Number : 28 Question Id : 755905998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the first graphical web browser.

Options:
| % Opera

> % Mozilla
5 Netscape

4.53]:E

Question Number : 28 Question Id : 755905998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, = Opera



- # Mozilla

-  Netscape

Question Number : 29 Question Id : 755905999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What happens when you click *Save file’ method to download a file?
Options:

, « The file is downloaded and saved to pre-defined folder in HDD.

- % [Ihe file is downloaded and opened using default program.

- % File s opened without downloading.

4, » File gets saved to temp folder.

Question Number : 29 Question Id : 755905999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 30 Question Id : 7559051000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a 4 wire modem.:

Options:

| « one pair is used for incoming and one pair of wire is used for outgoing carriers.

- u four ports are used.



- % four connections are possible at a time.

, » four different frequencies are used.

Question Number : 30 Question Id : 7559051000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 31 Question Id : 7559051001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Sita wants to delete conversion of the emoticons to their dingbat equivalents, which is done through the AutoCorrect

feature of Microsoft Word.

Arrange the below steps to perform that operation in a proper order.

1) Make sure the AutoCorrect tab is selected.

2) Choose AutoCorrect from the Tools menu. Word displays the AutoCorrect dialog box
3) Click the Delete button. The emoticon replacement is deleted.

4) In the list of replacements at the bottom of the dialog box. choose the emoticon you don't want converted.

Options:
#2134

2

%
]
=
Is
L]

1
"
=
L
7
L

Question Number : 31 Question Id : 7559051001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Question Number : 32 Question Id : 7559051002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
You can enable or disable various options for automatically correcting capitalisation on the tab.

Options:
1 « AutoCorrect

- % Comments

- » Capitalization

4 % Customize

Question Number : 32 Question Id : 7559051002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 33 Question Id : 7559051003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify the INCORRECT statement from the below mentioned options.

Options:

. w Three different case changes can be applied using Shift ~ F3 to the whole Word document.

- » [Ihree different case changes can be applied using Shift — F3 to the selected sentence.

5 % [Ihree different case changes can be applied using Shift ~ F3 to the selected paragraph.

4  [lhree different case changes can be applied using Shift—F3 to whole folder of different files.

Question Number : 33 Question Id : 7559051003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 34 Question Id : 7559051004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

There is (are) option(s) under Select Recipients which is the third step of mail merging of letters.
Options:

1 ® 1

2_&3:



Question Number : 34 Question Id : 7559051004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

qreceRdl I (Select Recipients), Sit 93t & #er ARSRT (merging) & e =0T 8, & Haed faeeq
(Frereat) $r e e B &7

Options:

1 % 1

Question Number : 35 Question Id : 7559051005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following internet service operates over a normal telephone line similar to dial-up?

Options:

1 Digital Subscriber Line

> % Dynamic Subscriber Line
5 » Digital Service Line

4 % Data Service Line

Question Number : 35 Question Id : 7559051005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
= 7 ¥ Fi7 @ e W1 SUA-HT F THAA FTAT SollhIT oS 97 Torar g7

Options:

| v BT HeHFET e

o % STTAIHE HeHHFal oga

.« Bfoea vl @
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Question Number : 36 Question Id : 7559051006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The operates over coaxial cable TV wires and providers speed from 3 Mbps to 100 Mbps.

Options:
, w fiber optic otherwise known as Fios

> « cable broadband
- ® pager

4 #% satellite

Question Number : 36 Question Id : 7559051006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

=T 7 @ 7 e Faa TV (e art @ 9= FTar § 3T 3 Mbps ¥ 100 Mbps
% H 7T v FIar 272

Options:

| » DB 3ifves O FiOS & &7 ¥ S S1eT ¢

z_gmﬁk@?
3_&:‘33!1'

Question Number : 37 Question Id : 7559051007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following option is the cheapest broadband option?

Options:
1 % Cable

» % Dial-up

3 # Satellite

i DEL



Question Number : 37 Question Id : 7559051007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

farafafeT greds Rl § ¥ =9 g5 9531 27
Options:

1_%3%?

> % ETO-3T

5 x HEABT (3T

. v DSL

Question Number : 38 Question Id : 7559051008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which internet service is always ON, so you will never have to start up vour internet connection a new?

Options:
1 « Satellite

-~ » Fiber optic service
2 ® ADSL

4 % Cable broadband

Question Number : 38 Question Id : 7559051008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fefof@a & & Fia Sciaie JaT gHT T War ¢ owd HTw w8 WIS SeXAT FAeer A¢
oY & & 7 e Tz

Options:

v 3998
, « PISET HCes Far
. » ADSL

4 ® mﬁﬁ?

Question Number : 39 Question Id : 7559051009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Which of the following broadband services can deliver up to 100 times network performance of a dial-up modem?

Options:
1« DSL

> % Dial-up
3 % Satellite

4 % Cable modem

Question Number : 39 Question Id : 7559051009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FIAAT A3 TAT STA-HT ASH § 100 T[T IF Acde oG Jeld H{ Fhall 87

Options:

., » DSL

5 % Sel-FT
3 % 398

4 % heel ATEH

Question Number : 40 Question Id : 7559051010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Consider the following example of replacing IP with the domain name and answer the question mentioned below:

Example: http.//208.77.188.166/ to http.//www.example.conmy/

What is this process called?
Options:
| % URL support

> « URL normalisation

5 % URL balancing

4 % URL modification

Question Number : 40 Question Id : 7559051010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



fordar: IPﬁmm#mmmﬁmgmmﬁﬁmﬁmmmammé[
3CENUT: http.//208.77.188.166/ & http.//www.example.com/
wo: T frgedr wiear &2

Options:

, = URL THIA (support)
. » URL THAEIERUT (normalization)

.« URL Hgee (balancing)

, » URL ®efea (modification)

Question Number : 41 Question Id : 7559051011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What do you mean by recent document?

Options:
.  The document accessed and saved recently

- % The document deleted recently
- % [Ihedocument saved recently

4 % All documents

Question Number : 41 Question Id : 7559051011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

'Recent document’ & 3T FIT AGoT [l Tt 27
Options:

| v SEARS g & # veww R mar ik |

. % GEAIEST g & 7 fZee &Far T

o % GEAES el & H T T

4 & mmﬁ?

Question Number : 42 Question Id : 7559051012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which among the following does NOT come under superscript?

Options:
, % Sometimes copyright and registered trademark are superscripted.

-~ % Ordinal indicators are sometimes superscripted.

= % It is used for standard abbreviations for trademark & service mark.

4 It isused frequently in mathematics to define same variable of different versions.

Question Number : 42 Question Id : 7559051012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o & ¥ FiF 7 gREFe F e F@ T 82

Options:

N FINSE AR Tolgpa T5A & FRIEHE AT A1 &

caP=Ea a&dﬁmmmﬁm%

o R

. % S 3R g3A AR A1 FEa ¥ v A w@adt & e G s g

4 &

SHFT 3T A0 H 9T e 950 & TA 97 & TRATNg e F e & e g

Question Number : 43 Question Id : 7559051013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What parameters are present in the paragraph dialog box?

Options:

, w Effects, line & page breaks

- « Indents and spacing, line & page breaks, preview
- % Line & page breaks, preview

4 # Alignment, fonts, spacing

Question Number : 43 Question Id : 7559051013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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, « USEAHCH, Bied, T

Question Number : 44 Question Id : 7559051014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What are the four things required to connect to the Internet?

Options:

, « Computer, ISP, modem and web browser

> % Modem, computer, PDA and ISP
- % lelephone line, PDA, modem and computer

4 » Telephone line, modem, computer and an ISP

Question Number : 44 Question Id : 7559051014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

SeIAT ¥ Faa< 2 & fow & o A= #7 JA=ETFar g 27

Options:

FOE, ISP, ARH 3R a9 FEeR

i
, » TSH, FIH, PDA 3R ISP

o EAPI oed, PDA, #3H 3R X

, u SOl oSS, HISH, HegeX AR ISP

Question Number : 45 Question Id : 7559051015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



What is the key combination to move to the beginning of a line in MS PowerPoint?

Options:
i % CTRL+HOME

> « HOME
= % ALT+HOME

4 % SHIFT + HOME

Question Number : 45 Question Id : 7559051015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS PowerPoint & aT$eT &1 T3 # HET P TEF HA & (00 (FF FA & [00) Foil AT &7
g2

Options:

, % CTRL + HOME
- + HOME
- » ALT + HOME

., # SHIFT + HOME

Question Number : 46 Question Id : 7559051016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to change the pointer to a pen in a slide show mode in MS PowerPoint?

Options:
1 % ALT+P

5 « CIRL +P
s % CTRL+A

4 % ALT+A

Question Number : 46 Question Id : 7559051016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint # Fa1$s off Al # WX & 99 H §goia & [T Foil FASA FT 7

Options:

, % ALT + P




» v CTRL + P
- % CTRL + A

L% ALT + A

Question Number : 47 Question Id : 7559051017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to open the Save As dialog box in MS PowerPoint?

Options:
1 ® AIT+FthenO

o

&,

> o ALT+Fthen A

ATIT+Fthen S

L
®

AIT+FthenD

o
B

Question Number : 47 Question Id : 7559051017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS PowerPoint ¥ ‘B V3T (Save As) WaTE F1a0 1 Tiae & [T Fail HATT T §7

Options:

, % ALT + F then O
, v ALT + F then A
. % ALT + F then S

. % ALT + F then D

Question Number : 48 Question Id : 7559051018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to align a copy of selected objects to the vertical centre of the last-selected object in

MS PowerPoint?

Options:
; % Alt+F1
5> % Alt+F2

3 « Alt+Shift+2



4 % Alt+Shift+1

Question Number : 48 Question Id : 7559051018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint H, ftroer Iafad 3ieaiae & Foanl &g & AT T Heade & HIAd Fa & &7
Options:

% Alt + F1
, = Alt + F2
-« Alt + Shift + 2

, = Alt + Shift +1

Question Number : 49 Question Id : 7559051019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following events are in the right order to ‘Copy an Excel chart to another Office program’ in MS Excel?

Options:
; w Home > Paste Special > Paste

-  Copy > Paste > Paste Option > Picture

- » Paste > Home > Paste Special

4 = Paste Special > Home > Paste = Picture

Question Number : 49 Question Id : 7559051019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

=T 7 ¥ #iF O g2 MS Excel & ‘Excel IME I FATST & 3eF GMH H FOr F &
ey § TEr o8 H 272

Options:

| w B > U T > 9

. FET > UTE > YT HwE > MR

- » 9EC > FH > I TUA



L » T TN > gH > 9% > R

Question Number : 50 Question Id : 7559051020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following events are in the right order to ‘Apply a predefined chart Layout’ in MS Excel?
Options:

, « Chart Tools = Design > Chart Layouts

- % Chart Tools = Layout > Chart Layouts
5 % Chart Tools = Design = Layout = Chart Layouts

4 » Chart Tools > Format > Chart Layouts

Question Number : 50 Question Id : 7559051020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Excel # ‘T qafadiRa =¢ $T @ & ST (Apply a predefined chart Layout) & @& H
TR f s S oar s A 7

Options:

| v < TW > B > = Sameew

, x TIC T0W > BT > T AHABH

Swaﬁwbﬁaﬁ>aﬁmraﬁﬁm

C A oaf L
, % TC TEH > BIHE > TMe I3

Question Number : 51 Question Id : 7559051021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following events are in the right order to *Apply a predefined chart Style’ in MS Excel?

Options:
; # Chart Tools > Format > Chart Styles

> % Chart Tools = Layout > Chart Styles

5  Chart Tools = Design > Chart Styles



4 % Chart Tools = Design > Format = Chart Styles

Question Number : 51 Question Id : 7559051021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Excel & ‘T EiiRg @rc AT @] FT (Apply a predefined chart Style) % Fawr &
=T 7 ¥ #iF o geaw T8 9 7 7

Options:

L il LY
| % sl cod > WRIHC = =c FHIgeH

S A€ TEH > WAABE > AR TWHed

. v T TN > BARA > A WHew

4_waﬁ§w}%wgﬂ}w“ﬁt>aﬁm

Question Number : 52 Question Id : 7559051022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The BHIM app was in the year 2016.

Options:
, % registered

> % created

% « launched

G

4 % authenticated

Question Number : 52 Question Id : 7559051022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

iy 0T I 2016 H g3 o

Options:
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Migration of Birds
One of the greatest mysteries of bird life is migration or travelling.
Every year during autumn and early winter, birds travel from their
breeding places in the northern regions of Asia, Europe and America to
warmer southern lands. They make their return journey again during

spring and early summer.

They are very punctual too unless they are delayed by bad weather. We

can precisely tell the day of their arrival at their summer destination.

Some birds make only local movements to avoid hardships such as

food shortage.

The long distance voyagers have to brave many dangers and hardships
while flying over hills, forests, plains and large stretches of water.
Sometimes a sudden storm may drive them far out of their course and
blow them out into sea where they drown in the wild waves. Likewise,

at night the bright lights of cities can attract and confuse them.

Birds like geese, flycatchers, warblers, shorebirds etc. generally gather
in flocks and after a great deal of excited fluttering, twittering and

calling they rise up into the air and fly off to their new destination.

Such birds generally fly in a V shape formation. This formation is
energy saving because it helps them gain lift from the bird in front by

remaining close to its wingtip.

In some species the male birds go first to their breeding grounds and

the female birds follow them in a few days.

Before formal studies on bird migration began, people believed that

they buried themselves in mud and slept through winter.

Bird migration studies are conducted either by directly observing their

habits or by ringing.

Ringing is done by capturing a bird and putting a light metal or plastic
band on its leg. This band bears a number, date, earlier page
identification mark, and the address to which the finder is requested to
return the ring. The bird is then set free. The place where such a bird is
shot, captured or found dead gives a clue to the direction and locality to

which the bird has migrated.



Sub questions

Question Number : 53 Question Id : 7559051024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Each year the birds migrate to

Options:
1 « warmer lands

> % look for food

- » safer breeding places

4 % lands along the shores

Question Number : 54 Question Id : 7559051025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following attributes does NOT apply to birds?

Options:
, w They are very punctual.

> u They fly in communities.

- % [Ihey fly in a specific formation.

4  They hibernate in mud.

Question Number : 55 Question Id : 7559051026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Birds teach us important lessons of

Options:
1 % indifference
> w lesponsibility

= % selfishness

4 co-operation

Question Number : 56 Question Id : 7559051027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The V formation helps birds to
Options:

; = keepan eye on each other

> # follow their leader

-  conserve energy while taking off

4 % to protect the sick birds

Question Number : 57 Question Id : 7559051028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which is the correct order of the ringing process?
A. A metal or plastic band is put on its legs.

B. The bird’s data is written on it.

C. The finder/shooter should post it to sender.

D. The bird is captured.

Options:
1 ® ABCD
> % ADBC

s # DABC

4 v DBAC

Question Id : 7559051023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Question Number : 53 Question Id : 7559051024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

gefl, gedeF I F foT e = 2

Options:
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Question Number : 54 Question Id : 7559051025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
uferar X e 7 ¥ HiF @ o a6
Options:

5 ¥ 9gd AT 2
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. v 3 TR F N @ERee) = &

Question Number : 55 Question Id : 7559051026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 56 Question Id : 7559051027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& W= ofEE # #eg F AT 22

Options:

. T GHY W A @A A

L 1

e mﬁwmaﬁﬁaw T 5

. 350 AT FAT WU FA H

4 % STAR IIEET Fr TET IS H

Question Number : 57 Question Id : 7559051028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e s s s G A sg
82

A.38% R # T uTg o1 eiees 95
ST AT 2

B.3H 9T T&ft &7 2er formr gl
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Options:

% ABCD
, » ADBC
- » DABC

. « DBAC
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Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 7559051029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Twelve per cent of Kaushal's monthly salary is equal to sixteen percent of Nandini’s monthly salary. Suresh’s monthly

salary is half that of Nandini’s monthly salary. If Suresh’s annual salary is 1.08 lacs. then what is Kaushal’s monthly
salary?

Options:

| % 20,000

, » Z18,000
5 % %26,000

4« 324,000

Question Number : 58 Question Id : 7559051029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fherer & ATEe I F1 T Iaed A= & AEF 397 & Hierg Faed & T g1 o 1 7w
a1 ARG & AfES a9 H AR gl 3R FO7 F1 aIfF 304 2 1.08 1@ §, af Fierd & Aaes aad
fraar 27

Options:

, % ¥20,000
, » %18,000
. % ¥26,000

. v T24,000

Question Number : 59 Question Id : 7559051030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What should come in place of question mark (?) in the following equation?

9 +-2%x27+9 5
18+-75x5+4

Options:

1. v 435

L
e |

> R

I-a
L |

o %

g4 W 0.8

Question Number : 59 Question Id : 7559051030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

fF=foa oo § wafEa (?) & T W F7 H1TE?
Q=2 2T =0 5

18+-75x%x5+4 =

Options:

Question Number : 60 Question Id : 7559051031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A car covers the first 39 km of its journey in 45 minutes and the remaining 25 km in 35 minutes. What is the average

speed of the car?
Options:

1 #% 40 km/hr
> % 64 kim/hr
z % 49 km/hr

4 « 48 km/hr

Question Number : 60 Question Id : 7559051031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
U FT A F A 98 39 km F1 gl 57 Fa H 45 BT T 9w 25 km F gt F¥ FA A 35
e =1 T o g1 Fr & sitwa afy F@m e

Options:

1 % 40 km/hr
> % 64 km/hr
=z % 49 km/hr

4« 48 km/hr
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What will come in place of question mark (?) in the following equation?

(21)2—3717+-59=?% 8
Options:

;. % 43.75

> ® 42.25

3 % 45.75

i 4725
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(21)2 - 3717 + 59 = ? x 8
Options:

. % 43.75

- x 4225

- = 45.75

. v 47.25
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What approximate value should come in place of question mark (?) in the following questions? (Note: You are NOT

expected to calculate the exact value.)

V4663 + 349 =7 21.003
Options:
1 ® 7600

- R 7650
=z W 7860
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Y4663+ 349 =7+ 21.003
Options:

| % 7600
. % 7650
5 % 7860

., v 7680
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Instructions: Read the following question consists of a question followed by three statements I, IT and III. You have to

study the question and the statements and decide which of the statement(s) is/are necessary to answer the question.
What is the speed of a train?

Statements:
I.  The length of the train is 240 mefres.
II.  The train crosses a pole in 24 seconds.
III.  The train crosses a platform in 48 seconds.
Options:
1 #% BothIandIII



> « BothIandII
= % BothII and IIT

4 # Any two of the three
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Study the following arrangement of letters, digits and symbols to answer the question given below:

AB7CD9ZY*P2MCKS3T5NT@

ety

If each symbol of the above sequence is replaced with a letter and each digit is replaced with new symbol. then how
many letters will be there in the sequence?

Options:

1 ® 4

-~ % 12
2 o 16

g w 17
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Options:

1 ® 4
3¢ 16
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Study the following letter-number sequence to answer the question below:

E&EGBDMANKH2ACZSV3FIILOQS5SPR

If every third letter/number starting from the right replaces successive days of the week starting from Monday, then

which letter will replace Thursday?

Options:
1 ® A

2.%3]:T
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Which of the following words will come second if all of them are arranged alphabetically as in an English dictionary?

Options:
= Apology

>  Antipathy
5 w Antigen

4 w Antique
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Options:

, = Apology




-  Antipathy
5 » Antigen

4 = Antique

Question Number : 67 Question Id : 7559051038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following words will come third if all of them are arranged alphabetically as in an English dictionary?
Options:

, « Bishop

> % Bifocal

5 w Bicycle

4 % Bitter
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Options:

,  Bishop

- % Bifocal
- » DBicycle

4 % DBitter
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In the following pair, find two words related to the words already given— one word for each of two related pairs.

I: Charcoal :: Coal : 11
L (1) Fuel (2)Fire (3)Wood  (4)Black
IL. (A) Ash (B) Coke (C)Smoke (D)Fire

Options:



> B 1A

3 B 4C
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In the following question, some words are given which are related in some way. The same relationship obtains among

the words in one of the four alternatives given under it. Find the correct alternatives.

Class : School : Student

Options:
1 % Ball: Bat: Pitch

> % Sister : Family : Brother
-  Hand : Body : Finger

4 % Leaf: Tree: Root
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The Atomic Energy Commission was set up in the year:

Options:
; % 1952
5 % 1950

3 « 1948

4 % 1960
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Options:

| % 1952
- % 1950
2« 1948

4 % 1960
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In which of the following two games the term *deuce’ is common?

Options:
1 # Basketball and Badminton

> « Badminton and Tennis

5 » Volleyball and Tennis

4 # None of the given options
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Moraines are formed in
Options:

, « glacial regions

-, % nonsoon region
= # river deltas

4 % arid regions
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Which one of the following types of spurs is typically associated with valley glaciers?
Options:

, w Interlocking

-~ % Juxtaposed

5 % Overlapping

4 + Truncated
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The Greater Himalayas is otherwise called as:

Options:
, w» Assam Himalayas

> % Siwaliks

5 » Sahyadri

4 +« Himadri
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When was the Panchavat Raj System introduced in India?

Options:
1 ® 1945



> % 1950
5 « 1959

4 % 1962
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1 % 1945
> % 1950
- « 1959
4 % 1962
Mock
Group Number : 2
Group Id: 75590572
Group Maximum Duration : 5
Group Minimum Duration : 5
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 1
Mandatory Break time: Yes
Group Marks: 0
English Twping Test
Section Id : 755905124
Section Number : 1
Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 0
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 755905124
Question Shuffling Allowed : No



Question Number : 76 Question Id : 7559051047 Question Type: TYPING TEST Display Question Number : Yes

Surmer CAITlps are SupEI‘ViSEd CaItps cornducted to entertain as well as equip students with various life skills
such as tearnwork, SOCiELliziﬂg, decision I'I'JElkiI'lg, iﬂdEpEI‘ldEﬂt and I'ESpOﬂSiblE living and more. It aids the
owerall dEVEIOpI'HEﬂt of a child and children hawve fun during this process as the;i.? get to e:»:plore Il areras.

Restricted/ Unrestricted: Unrestricted
Paragraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Panel: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes
Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id : 75590573
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 0

English Twping Test

Section Id : 755905125

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905125
Question Shuffling Allowed : No

Question Number : 77 Question Id : 7559051048 Question Type: TYPING TEST Display Question Number : Yes



Recycling includes the procedure of collecting waste materials and breaking thern down into building blocks
that can be turned into new products. There are mainly five kinds of waste materials. These include paper,
steel, glass, aluminium and plastic. Al these are recycled using different methods. Here is how different things
are recyCled and made 1o be used again. Paper. Paper waste contains paper sheets, newspapers, cardboards
and other printed papers used in offices and educational institutes. Paper is made of two components, namely
wood and water. So through recycling, the paper is first broken down into these component parts to reform it.
The contamination like ink and dirt is filtered out. Paper is compiled and is given a hot water bath, which
breaks the paper down into tiny strands of cellulose fiber. Further, it is forced into a screen where remaining
dirt is taken out. Then it is sent for another bath, which contains air bubbles and scap like chermnical to
separate the paper from the ink. Air bubbles carry the ink up to the surface and pulp which sinks to the
bottom can be formed into new paper products. Steel. Steel can be recycled over and over again without losing
any of its properties. With the help of the liquid floating systern, high air-pressure systerr, steel is separated
from other metal and ther it is cut down further by Hydraulic machinery by exerting enormous pressure. Stegl
15 then melted down and shaped into new items like cans, utensils, car parts and paper clips. Glass. Glass 15
shattered and broken down into tiny pieces. These glass pieces are sorted into clear, browr and greer color.
Differentiating colors is important as it is permanent. Glass is made of Silica, which is melted dowr and
molded into new shapes and products. Flastic. Plastic is made of one of six different types of chernicals. Each
plastic has a different molecular structure, which deterrnines the physical properties of the plastic. This
implies that some types of plastic iterms are easier to recycle than the others. Plastic is made of large carbon
chains. 5o, some of the forms of plastic can be melted down and reformed, while others can be mixed with
new plastic and yet others can only be molded into other shapes for different uses. Alurminiurm. [t is shredded,
washed and turned into chips, which are melted in a large furnace and then poured into meolds. Then they are
shipped to manufacturers, where they are melted again and rolled into thin sheets that can be cut, bent and
shaped into new products. In simple words, it can be said that almost anything can be recycled and the waste
can be given a new shape for re-usage.
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